@ We Shine Academy

guiding you to get through

The volume of the cube is 729 cm®. What is the length of the diagonal

a) 9vZ cm b)9 V3 cm c)18cm d) 18 V3 cm

@y SNFHIH60 Heene] 729 Ge.al’. siaiish imeil esnevelll L LD slelisusTiay
a) 9265 .18 b) 9 V3Ge .18 c) 18 G .1 d) 18 V36518

- .. (893+786)%— (B93—786)2
Simplify (893 %786)

(893+786)*— (893-786)°
(B93:x780)

FMBEGHS

a)4 b) 5 c)6  d) 3

A is B’s brother. C is B’s daughter. D is C's daughter, A is. of D.

a) Grandfather b) Grandmother _¢) Son d) Daughter

A aiausnt B-sir #8snayei. Ceramusut B-ulsir wossit. D aaiiusur C-ulleir a6
aranney A erasrusum  D-ulien :

a) SN b)umfig o " s c)wsen d) wHsih

Which of the folloWi‘ng;'f"ig'ur‘es'has the abscissa of points on mid values of the
class intervals?

a) Histogram _ - b) Frequency polygon

c) Frequency curve d) b and c both

FHSRODID aIMFLLRGIN el SISLSHTne] LisTsalssmer @iy
EienL Glsuafluisn snwwil LseliaenTads GlaTamihsisms?

a) Bsbblsust GFeisuED b) Hasipbleuenr LisvBamsmnTb

C) H&PGIRIETT  GIEN6T RG] d) b oppe ¢ Byedpid

If0.75:x::5:8. Thenxis equal to

a)1.12 b)1.20 c)1.25 d) 1.30
0.75:x ::5: 8 aaied X-&1 0B ILSTEHN.

a) 1.12 b) 1.20 c)1.25 d) 1.30

The sum and product of two humbers are 12 and 35 resply. What is the sum of
their reciprocals?

a) g b) -;—i C]-E d) g
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@irewih eTenibsll dnl_(hH0HTond 12 GQUmsEH6HTNE 33 sallsh. DSHmisnl L

SHemeLBLD sleiisstliall gal ([ Gbileand elsiisn?
13 12 14 15

8) 35 b) 35 c]35 q) 34

The least perfect square number which is divisible by 3,4, 5, 6and 8 is

a) 900 b) 1200 c) 2500 d) 3600

3, 4,5, 6 whmb 8 easim eeMIGET NGHGL WessFFmul 1pupsTHs sTemnt

a) 900 b) 1200 c) 2500 d) 3600

The sum of the digits of a two digit number is 15 and the difference hetween the
digits is 3. What is the two digit number?

a) 69 b) 78

c) 96 d) cannot be determined

@M [levds ssmenlsi Bsubmnibsiien FalhHed 15, spumpen ailsHuirsn 3

6y Fr T Vi S fo VT 3 _

a) 69 b) 78 c) 96 d) &remi  Gluisorg

S varies directly as R varies and T varies inversely as R-varies.- Atatime R=20,S=
40and T = 10. If R is changed to 10, then the valueof T will be

a) 20 b) 15 ¢ 40 d) 80

S-git wAmBOTENg) R-aiT wiBmHHBE ChiE wem BTSN, T-60 wiBBLreng) R
WIBBHHBES sTHT WwHpLTED 2 sitsngl @maFounnd R =20,S =40,T = 10 a1
WwHLSEmET Glumapas. Reit wain] 10 sem senwud Burs T-a waliy
STGIGIaNTS  Bl(HdELD.

a) 20 )=

¥ c) 40 d) 80

How many%’-s are there in 37%?

a)300 b) 400 c) 500 d) 200
3?%:%&[[_3 Sl Lleianshalsv aTellsusS) % st Ulsitamnd 2 aierg)?
a) 300 b) 400 c) 500 d) 200

Which one of the following shows the highest percentage?
384 425 570 480
a) oo b) _— 3 s d) —
540 500 700 660
UisTsumsusmsuimisit 618 2 Wihs Faaisid?!
384 425 570 480
a)=— b) o ) o d) —
540 500 700 660

HCFof 2°x 3" x 5, 2*x3*x 5%and 2" x3x 5° x 7is

a) 30 b) 60 c)48 d) 105

2°x3%x 5, 2" x 3 x5Pummib 2*x3x5° %7 syl aemsEdHTEn B.OUT.6
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(HCF) sreien?
a) 30 b) 60 c)48 d) 105

If the volumes of two cones are in the ratio 1: 4 and their diameters are in the
ratio 4 : 5 then the ratio of their heights is

a)jl:5 b)5:4 c)5:16 d) 25: 64

Blm Falbyssilsr Sem DENaEsTaT al&El 1 0 4 wBmib Seubns e

sl L misarledl ez 4 @ 5 erellsd ummlen 9 wimiselen all@lsin sTeien?
a)jl:5 b)5:4 c)5:16 d)25:64

(a=b)?+ (b—c) + (c=a)®
9{a-b)(b—ci(c—=a)
a) 1 b)1/3 c)1/9 d) o

=7

The radius and length of arc of a sector are 10 cm and 15 cm respectively. Find its

perimeter :

a) 15 cm b)35cm c)25¢cm d) 30.cm

@M sul L BGsreml UGSl allsvedisit Bemd 15 GlaEul mBmws sy 10 G
GTENED SiHell HMMeToncids e,

a) 15 G .10 b) 35 Q&8 c) 25648 d) 30 GiF.f

Find the total amount, if 12% of it is Rs.1080

a) Rs.28,000 b) Rs.9,000 | c) Rs.18,000 d) Rs.10,800
@0 Gsremsulst 12% sreilugl dqurd) 1080 saillsh DSH6HTmHEMILS ST,
a) Rs.28,000 b) Rs,9,000 c) Rs.18,000 d) Rs.10,800

Find the missing alphabets in the series:

A1, PV, A, E, 2

a)E o b) F )G

auflsmalisd allful L slIpSmBEH BTNES:

Al PV, AE?

a)E b) F c)G djH

If P is a prime number, then the LC.MofPand P+ 1is

a)P?+1 b) = c) (P+1)° d)P(P+1)

P sTediligsl @(H LIST 6leml alenflsy P ommnn P+ 1 o8l eTemisemhdbaten L.&F.w(lcm)
GTGATNT

a)p2+1 b).P_[PLl.}.

: c) (P+1)? d)P(P+1)

19, STUDENT : MARKS :

a) Teacher : Class  b) Pen : Nib c) Scholar : Book  d) Waiter : Tip
The Best Coaching Institute For TNPSC, Bank, SSC, Police Exam, TET Exam, Railways Exams
@ 8939 144344 3 @ www.weshineacademy.com




oTaTadsi : ID&IGILIGHT :
a) AT su@GlusHD b) Gueam : (LpeneT
C) synuidFunenli : UdbhssblD d) snd@mluer - lerd

A bicycle marked at Rs.1,500 is sold to a 1,350. What is the percentage of
discount?

a) 20% b) 15% c) 10% d) 7%

2@ Walsingulsr alisnee 1,500 gpumll stsiim @GldaslL Bsiens.  Blahamen
auTl 1350é@ alhmmsd HelEpuly FHelHn 160607

a) 20% b) 15% c) 10% d) 7%

A sum of money triples itself at 8% simple interest per annum over a certain time.
Then the number of yearsis

a) 30 b) 15 c) 25 d) 10

@ GUIUILL oFsursrg 8% sully elssHlet apsiiml oL msTE

1B hHIHGIBT6ITEHID DyaihHei. - N

a) 30 b) 15 c) 25 d) 10 .

up.

0S80 Sy ‘/'.
— - i'—
W SN 2

S

a)s560. 4 £ b) 720 c) 880 d) 960

Sara baked cakes for the school festival. The cost of one cake was Rs.55. She sold
25 cakes and made a profit of Rs.11 on each cake. Find the selling price of the
cakes.

a) Rs.1,400 b) Rs.1,375 c¢) Rs.1,650 d) Rs.1,550

@@ usitsiiilssr silpreiBatad Fmrbss Geusmsn @@ Coaeblen 2 dsalsnsn
(h.35 PG, ks IGsuTH BHoHmseD m.ll suTuhsHine elbsprsr. 25
CaabEmmenstt sl mibomet, sliUene sileneusHU &ITENT.

a) Rs.1,400 b) Rs.1,375 ¢) Rs.1,650 d) Rs.1,550

In a simultaneous throw of twao dice, what is the prabability of getting a total of
7?

a)1l/e6 b) % c)2/3 d) %

@m usanL s @67 FousHasy lFuuED CuTws., FWBHs 7 dnLds
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HHDHSE WIH?
a)i/e b) % c)2/3 d) %

Find the compound interest on Rs.16,000 at 20% per annum for 9 months
compounded quarterly

a) Rs.18,522 b) Rs.17,640 c) Rs.16,800 d) Rs.2,522

AL AL Baully 20% =ua Diodsln Cursl smranEae eully
HeombHILLILURHDSH. salsd m.16,000-6@& 9 wWTHFuEEHHSH B &G0 Fal (el g
sTalaNGTR]7

a) Rs.18,522 b) Rs.17,640 c) Rs.16,800 d) Rs.2,522

Find the sumof 7+ 14+ 21 + ........ +490

a) 16395 b) 17395 c) 18395 d) 19395
7+14+ 21+ + 490 sy GHm_iflelr Fn(haHsu

a) 16395 b) 17395 c) 18395 d) 19395

.9 . R
If the volume of sphere IS5 m then its radius is
4 3 3 2
ag)gcm b];cm clgcm d) 5 &m
= T .08 Bamaisne Csmsmi. Bsmendd sl SYfiLD. sTaLg)

a) 268 b) E@s.tﬂ c}gﬁglﬁ d) ggg_;fr

Thermistor is a

a) Material with positive Themson effect

b) Material with'anegative temperature co-efficient
c) Material with a positive temperature co-efficient
d) Material with negative Thomson effect
Camflabimr e

a) BmT FHToFar allmensy OGlsTeHIHl.

b) agits@n WsisemL Geuliuplency 616w BTN Gl
c) Cuid@m Wsidem Geuliumlensy sles Gl TiL Sl
d) st&iT smoFsr alenens) GlSTsHL &L

The sum of four consecutive even positive integers is 1284. Find the smallest
number

a) 320 b)318 c) 324 d) 326

misg ABHEHSHHH @l usmL Wens (pipshsaisn anhoHsd 1284 seiisy
Similer 1WHF Fl sTemT BT

a) 320 b)318 c) 324 d) 326

30. Find the sum of the arithmetic series
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5 #1414 174 ....¥95

a) 700 b) 600 c) 800 d) 900
5+11+ 17+ ...+ 956160 &ul_ (b GHTLTETN Fal(hHoy HTeHSH.

a) 700 b) 600 c) 800 d) 900

1 1 1 1
—_—?
A2 | W) (B ey
a)1 b) 5 c)9 d) 10

If the product of two number is 5 and one of the number is g, then the sum of the
two numbers is
a)4= b) 42 c) 4> )5+

3 3 6 6

B eremimatien GLupdms GCeTms 5, simpsh @m s ; aTallsy B

GIEWIEBEIEN  FulhHEOTEI S,
a) 4l b) 42 c) 4> dys,
3 3 6 L %6 ° 8

What is 95% of 45982
a) 4800 b) 4840 c) 4850 d) 4880
4598-gr 95% wirmy?

a) 4800 b) 4840 c) 4850 d) 4880

A book contains 300 pages. Each page has 32 lines with the same content, how
many pages will the book.contain if every page has 24 lines?

a) 350 b)400 c) 425 d) 375

eIl LbssHeME 32 afismes CetaL Ubsssbdd Goissll ubshiss
300. 2168 GFLL weGaun(y Lbsddab 24 suflsans Blihbhoish. Ldhshsdhs
GLOG BN WBDEIEGT  GelaieToTE B w7

a)3s50 b) 400 c) 425 d) 375

If y is inversely proportional to x then we have xy= K for K > 0. The graphis a
a) Hyperbola b] Circle

c) Rectangular hyperbola d) Ellipse

Y SEH X 2UFHHEG Hoasal) alssssamils, Casmib @0 Wmas el
K>0-5@xy=K sten Bt GuoysBmmb. @laHel susmjuLld seiUSH.

a) BT usnEIUILD b) sl L 1b

€) BIF clUE DG ILITCUHETILLILD d) msimeul L tb

Find the missing term :45=35:63

a) 53 b) 25 c) 35 d) 55

ANBLICL STA0T  HTEN B, :45=35:63
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a)53 b) 25 c)35 d) 55

The cost price of 16 notebooks is equal to the selling price of 12 notebooks. Find
the gain percent

a) 24% b) 33 %% c) 16% d) 12%

16 Gum_ (Bl yhbdhEsTan I _bsallsmso 12 CHT(H UbhHdmssTen lbLens
allnsuh@d FWwib. Blheil Blevnt F&elHD S

a) 24% b) 33 i% c) 16% d) 12%

Evaluaie 123 x 999+ 123

a) 246999 b) 123000 c) 246000 d) 123999
waHidhas: 123 x 999 + 123 .
a) 246999 b) 123000 c) 246000 d) 123999

The surface area of the two different spheres are in the ratie of 9 :125.then their
volumes are in ratio

a)8:625 b) 729 : 15625 c)27:75 d) 27: 125
@pemp Goumin’ L Camrenmimsaia aensnUTlIUSESTE sHdBS 9 : 25 s
Heil Dl6Tiybsllell  sllEs s

a)8:625 b) 729 : 15625 €)27:75 d)27:125

The ratio of boys to girls in.a class 15’5 : 6. If the number of boys is 30, find the
number of girls

a) 36 ~b) 46 c)32 d) 42

R IEGUE 2 6TeT Wonamel LTemelGelE aldsn 3 ¢ 6 LWTemeITass s
alemIeniianes 30 sTalel LoTemI SeTilal  sTCNIemIHenE  ST6016

a)36. b) 46 c)32 d) 42

Evaluate : (256)""x (16)*** =7

a)4 b) 16 c) 64 d) 256.25
way sTens:(256)" % (16)"1% = 2

a)a b) 16 c) 64 d) 256.25

Find the difference between simple interest and compound interest for a sum of
Rs.9,000 lent at 10% p.a is 2 years

a)Rs.90 b) Rs.80 c) Rs.100 d) Rs.110

59,000 &510% el walsb aaisy ElysHih UsiBosalsh BenLHGID
Fal_(hoUl_19EBEHID HAloU_19HGID 2 66l allSHIITFHMmEHe ST

a) Rs.90 b) Rs.80 c) Rs.100 d) Rs.110
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IfA:B=4:6andB:C=18:5thenA:B:Cis

a)d:6:18 b)2:3:9 c)4:6:5 d)12:18:5
A:B=4:6aauabB:C=18 :5aemayn @mulei A:B:C=7

a)d:6:18 b)2:3:9 c)4:6:5 d)12:18:5

o P +2 ]
If the “n” term of the sequence a,;h, find aq
T

10 12 13 11
C) b) — Cl— d) —
21 11 11 21
; R’ . & 5 n+2 A v
@@ GsiLy suflsmauls naww = mitny an=mﬂauﬂa3 Qg BTGB,
12 13 11
b) — k- d) -
11 11 21

10
a) i
A frequency distribution is organizing of raw data in tabular form, which can be
represented graphically by .

a) Histogram b) Horizontal axis  ¢) Vertical axis d) Inclusive form
AUEDSUUBSHUILLTH LisiTenl alleuTmidena, Whha uiigliedp Buigl S ds@in
Hol Gleusit LITsusmsy sUsHFLILLD elpeuld ——-—- sTsusumml GUfLsomD.

a) Plsptausit GFFeieusHD b] eymsowmen i)

c) memomentifisy d) 2_sitem_dmin_ 176y,

A cone is 8.4 cm high and the radius of jts base is 2.1 cm. It is melted and recast
into a sphere. Find the radius of the sphere

a)2.4cm b)2.1cm | c)2.2cm d) 2.3 cm

@6 SFlsn glinsssHen gt 2.1 Gsild, 2 wmb 84 GFif oim

2 mBHSUULH @m CHumots surTaalul LTed Garansbdlsi SyTiD sTeen’
a)2.4cm b)2.1ecm c)2.2cm d) 2.3 cm

If 4 men or 6'bays can finish a piece of work in 20 days, in how many days can 6
menand 11 boys finish it?

a) 5 days b) 6 days c) 7 days d) 8days

4 syemimail SEveval 6 LTS @ Gausmevenul 20 B &elehd (PILITTSET.
2HBaismsTanil 6 SYEATEGAT MDD 11 aUWLGTEST THHET BT H6T60
(piglimi s’

a) 5 prsen b) 6BrL_S6it c) 7Bl seir d) 8l asil

Find the number of days between 12™ January 2004 and 7" March 2004.
a) 54 days b) 53 days c) 55 days d) 52 days
12 ggsmeudl 2004-@i0 7 wmid 2004-@10 @smidilsh 2 6T HTsTHenseTH
HenhE (hb.

a) 54 mueir b) 33 musi c) S5mmeir d) 52mmsi

50. Ifx+y=10andxy =5 then the value of%+%is
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a) 21 b) 19 c)18 d) 20
X +y =10 wimib Xy = Serefled f-+l:sar DBIIL

a)21 b) 19 c) 18 d) 20

Find the sum of the arithmetic series 31 +33 + ........ + 53

a) 504 b) 404 c) 304 d) 604
31+33+.......+53 alsiip gl (hdh GHTLAST FabHs0 HT6NS.

a) 504 b) 404 c) 304 d) 604

The mean of a group of 20 items was found to be 40. While checking it was found
that an item 43 was wrongly written as 53 calculate the correct mean

a)39.5 b) 43 c)53 d) 10

@m usel elleurhdied 20 wHlyssisn sl BF sgmef 40. Siameusbamsnd
giiumis@n Buigl 43 a6im Wl Hambeoted 53 6wl spHliu L 5l
Gapflusbsz. sualarssan sfiwmsn Fl (F FIrafows BB

a) 39.5 b) 43 c)53 d)10 =

The value of a machine decreases by 5% every year  If the purchase price is
Rs.60,000, after three years the value of the machineis

a)Rs.51,44250  b)Rs.65,144.25 ¢ Rs.5,144.25 d) Rs.6,514.43
R0 GUbsisHs wglly @aubans (GO 5% SHonang. SUbsl) i
SlLbsalmen 1H.60.000 seist 3 B miEEhE@ Usll @ge wHlL seisn?

a) 1.51,442.50 b) 15.65;144.25 c) ¢5.5,144.25 d) m.6,514.43

What comes next?

c+y, d+x+1, e+w+2, f+v+3...

a)h+u+4 b)g+z+4 c)g+s+4 djg+u+4
2ihHhE QIHuH sTeE?

c+y,'d'+x+1,e+w+2,f+v+3.......

a)h+u+4 b)g+z+4 clg+s+4 d)jg+u+4

If length is 12 m and breadth 8 m then perimeter of rectangle is

a)96m b)40m c)48 m d) 20 m

m OCFsunsshden Bend 12 f oiea1 oseuln 8 18 aralst GlFsuaisddsn
SHMDETOUTIE

a) 96 b) 405 c) 4818 d) 20 18

The total surface area and curved surface area of the right circular cylinder of
radius 7 cm and height 20cm are

a) Total surface area = 1188 cm’, Curved surface area = 880 cm®

b) Total surface area = 1818 cm?, Curved surface area = 830 cm’

c) Total surface area = 1188 cm?, Curved surface area = 830 cm’
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d) Total surface area = 1881 cm’, Curved surface area = 880 cm”

@@ Hewio GHTsul L 2 memenulledt Sy /7 G wpmud 2w 20 G
ST6M60 DiHeil GIoTHSH UTLILETsY WHMID susHeTUITILIATE]TEl &

a) Grgs uply = 1188 &.0F.8, auememuyin] = 880 #.GF.18

b) Qurss upiny = 1818 #.Gs18, suevanugliy = 830 5.6

c) Giomss Lging 1188 #.GF10, susmamiiging = 830 Lzl

d) Gurss vy = 1881 &.6F.18, suewemuriny = 880 #.0&.uf

The LCM of 90, 150 and 225 is

a) 150 b) 2250 c) 350 d) 450
90, 150 wmmnp 225-ulsh BFFm LG

a) 150 b) 2250 c) 350 d) 450

The largest four digit number exactly divisible by 12, 15, 18 and 27 is
a) 9990 b) 9460 c) 9720 d) 9270
12, 15, 18 wmmid 27-su60 aigULSsyl WBslGufiu prsg Faobss
T GI01 G0 TS5 o
a) 9990 b) 9460 c) 9720 d) 9270

If2x +3y=31,y—z=4andx +2z = 11 then the value of x +y+ z is
a)11 b) 17 c)12 d) 15
2X+3y=31,y—z=4Guwaib X +2z= 116als X+ + 61 W0HILTETSI
a) 11 b) 17 : c) 12 d) 15

If x = 2.414 then the'valuelof(x - i)z is

a)2 b)) V2 c)4 d) 8
X = _2.4_14 Grﬁlﬁﬁu (x- i)J —& W& IUTETEH]

a)2 W b) V2 c)4

/N

The missing number is
a)12 b) 28

sll(RUIL L ATSmITGUIT ST
a) 12 b) 28 c)35 d) 100
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Even after giving a discount of 20% the shop owner gets a profit of 10%. If the
marked price is Rs.2,200 then the cost price is

a) Rs.1600 b) Rs.1760 c) Rs.1800 d) Rs.2080

20% sstigmpuigse Usmnme slwmunfas 10% smubd Sl ssSns. $iisHs
alleney (52,200 e o da allenen Creie?

a) 15.1600 b) ¢5.1760 c) m.1800 d) 5.2080

A train running at 54 kmph takes 20 seconds to pass a platform. Next it takes 12
seconds to pass a man walking 6 kmph in the same direction the length of train
and length of platform are

a)150m,130m b)160m,140m ¢)106 m, 140m  d) 160 m, 104 m
54 @b/ Coussdsn Gasteud Gguiish susmig memL Guenenw 20 Gmmgssiisy
sLha alfaams. Gwsub 205 Smaulsh 6 &0/ Casszlst BLHEHD
walgHemen 12 Gipmgssied &Lbal elBHmal. UuTpsl Syulsdsi B
ommnd B GosnL Wis memoTsizl

a) 1501, 130 18 b) 16018, 14018  ¢) 106 1f, 140 18 d)-160 ;B, 104 18

The number of prime factors of (3 x 5)** (2x 7)'° (10)Z.is -

a)72 b) 82 c)94 . © Y d) 92

(3% 5)"% (2% 7)"° (10)* —st GuoTSs LIHT ST sl sTomisnt Hena LTS
a)72 b) 82 - [ deas d) 92

Monthly expenditure of a persan Whose monthly salary is Rs.9,000 is shown in
the diagram percentage ofimoney spent for food expense is

¥ Food Fxpense
® Mediral Expense
= Others

B Saving

a) 50% b) 20% c) 30% d) 40%
.2,000 wWrsF Fousnhsieo Bha Sosailanm GFsua GlFUiHTel 26l
o gwiallsis GFsuallhid Foalswramsl
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W2 e ban s
B omSaie biFsway

" EsT GiFenay
Gl

a) 50% b) 20% c) 30% d) 40%:

2% \;
A, Band C can do a piece of work in 36, 54 and 72 days regp(a;:tmel’y T.'hey started
the work but A left 8 days before the completion of vmrkwmlre B left 12 days
before the completion. The: number of days for w#;ldh CMorked
a)24 b)26. . 4€) 28" -;.'_f_,; b d) 30
A, B, Ceieim cpsiim GuiT 805 lgajsmmsmu_l mej'j@m 36. 54, 72 m_saen
(pigluiT. @ldsv A eeiliT Batsmey @plgsqﬁm@ 8 B &EHHE (WaLnsaun, B
seiLaT 12 B SEdhe Wsumsaw alesls Gamsi . C s
SinIBaIsmEVEML srgﬁ,@:gsm W&ﬁm (piglimr?
a)24 b)lize‘f c) 28 d) 30
If the difference ]bet\yfeeh compound interest and simple interest for 3 years at
the rate qf ﬁsglp.aTs Rs.155 then the principle is
a) 300@ | - b) 4000 c) 5000 d) 6000
M@me@ 10% sl lp AEHHEH Gl sulph@Glo Heill sul1QHGLoTa
Sl HBHIITEFD PGTBIBHHEHES (H.155 616160 DF6UTEIH]
a) 3000 b) 4000 c) 5000 d) 6000

What come next

A ¥ @
@

DIHHEH CUHUSH! 6TeTsN7
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The missing letter is

G

B

F

a)s b)T
lBULL GT(pSHFHTIH

G J P

B K L

N ?

a)s b) T - ~ c)u d) vV

If 2x + 3y = 14 and%y = 3'then the value of 4x* + 9y* is

a)120 : b) 140 c) 160 d) 180
2x4.3y'= 14 Budeuin xy = 3 aratilev 4x° + 9y* —ai  LoaCILITENE

a) 120 b) 140 c) 160 d) 180

22 L. . . .
Ifm 5 then the area of semicircle with radius 35cmis

a) 1850 sg.c.m b) 1925 sq.cm c) 2850 sg.cm d) 3850sg.cm
T -1 D& -2?—2 staiian. symin 35 Gaif Qamain  iEmFan’ | SaeT Ll ETaImarg
a) 1850 #.Glz.18 b) 1925 5.0F.18 c) 2850 7 .Gz .18 d) 3850 #.Glz.18

By selling a car for Rs.2,00,000 a man suffered a loss of 20% then cost price of the
caris

a) 2,20,000 b) 2,40,000 c) 2,50,000 d) 3,00,000
5.2,00,0006@ @m sty alpusnsr bFElssst gmat 20 saalds
HOWRL DML ST, 26U ST eummidsil el sneol 6ol
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a) 2,20,000 b) 2,40,000 c) 2,50,000 d) 3,00,000

The population of a town increases 5% annually but is decreased by emigration
annually to the extent of 1%. The population increase percent in three years is
a) 10% b) 11.5% c) 12.00% d) 12.47%

R BEISHA whHssT GCatens Hansd 5 Fepaldish o ufsins. 2105
Fuunh @GubwiFFulsimsd 1 FHalam DFheeHd GmDndna.
LOGITBT e (BhbaTled 1ohEalT GHTand 2 IHID FHad HoTaTS

a) 10% b) 11.5% c) 12.00% d) 12.47%

(18)3+73 .
———=20then the value of x is
169449 x

a)6 b) 20 c)91 d) 42

13)34-73 . . .
ﬁ: 20 stanian X-a01  L0aSL LIS

a)6 b) 20 c)91 d) 42

If radius of one sphere is half of radius of another sphere then their valumes are
in the ratio

a)l:2 b)2:1 c)1:8 d)8:1

am CamaibHgieon SyyoTaig wibpmm Bareugsldl @580 ungl el
DIUBHI6H BT DB QS HLOT TSI

aj1:2 b)2:1 c)1:8 d)8:1

Water flown into a tank 200'm x 150 m through a rectangular pipe 1.5 x 1.25 m
at 20kmph. Water level rise by 2 metresin minutes.

a) 69 min “'b) 96 min ¢) 98 min d) 99 min

200 f memppid, 1507 W =iseud o aiten GleTlguilsir 2 siGem 1.5 f memwpin,
125 B amaupd o sl FEHITsuge BT wewTs wenlse 20 slub/w
Coasgdion sty alupbosTso Hereft 2 1§ 2wy BB i,

a) 69 min b) 96 min c) 98 min d) 99 min

If TABLE is coded as 21235 then TIME is coded as

a) 2054 b) 2495 c) 2945 d) 5429
TABLE staimussett @miuil 21235 eaeflso TIME aisdiugsent  @mluil merg

a) 2054 b) 2495 c) 2945 d) 5429

The perimeter of a rectangle is 60 metres. If its length is twice its breadth, then

its area is

a) 160 m* b) 180 m? c) 200 m? d) 220 m*

@m Gessushdien snmena 60 1L T. FOFaasHEHH BeTiD, DiHeuder

DIMIDLFRIE seollsy DI LIFLILISTSY 616l

a)160 @y i b)180 s Lt ) 200 sy WBlLir d) 220 #:r il
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The population of a town increased from 1,75,000 to 2,62,500 in a decade. The
average percent increase of population per year is

a)4.37% b)5% c) 6% d) 8.75%

@0 BHEIHAH WWHEATLIHTENS LHH mmLrsancy 1,75,000 fmba 2.62,500
DE 2 WiihbsTsh, DbbE)sHen grenl FyrFf siFsiiny snalsd wrg?
a)4.37% b) 5% c) 6% d) 8.75%

2 men and 7 boys can do a piece of work in 14 days, 3 men and 8 boys can do the
same in 11 days. 8 men and 6 boys can do 3 times the amount of this work in
a) 21 days b) 18 days c) 24 days d) 36 days
2 sysiissl LoBpD 7 Fmeitssl @ Csumevsnil 14 B Sy Gleuwigm
(LplpbaSsmanT, wHNID 3 oensst whnpn 8 Fmsutast 2i6x Geusnsveny 11
B setiiey GiFlimnl (10igsEEHamen. selsd 8 SLemsst WOBMIND 6 FAneuTEsT. b5
Bausmeveni) Bumsh 3 WL i@ Gsusmevanll a1HhSHenen HT_Heliey GFwisl (wiglur?
a) 21 pm_msair b) 18 mm_®6i c) 24 Bl &6 d) 36 EaiT

; _ 92
The simplest form of e s
4

2 2 3
a)3 b) 3 - d)3

E"G‘GT Fiw supsib

11.52 2 i 4

The LCM of two numbers.is 48, The numbers are in the ratio of 2 : 3. Find the sum
of the numbers.

a) 28 _b) 32 c) 40 d) 64

Genip eleofigseiilsdl WB.GLIw (LCM) 48 suweyb, Gusuld oibhg elsdissi 2 : 3
asi, alBp s GnboTs, Sbs Be aosaicn ml G CsrmsLTag
GITEBE FIOIDTH BIHHGID?

a) 28 b) 32 c) 40 d) 64

If the diameter of a sphere is 6 m, its hemisphere will have a volume of
a)l8m b)36m c)72m d)82m
6 f el L1b GeEremiL @@ CaTenhHaH N, DNenTHEHIET HoTD6NsY BTSN
a)ism b) 36 c)72m d82m

At what rate of compound interest per annum will a sum of Rs.1,200 become
Rs.1,348.32 in 2 years?

a) 7.5% b) 6.5% c) 7% d) 6%

m.1,200 end @gemih eumLSHSH60 m5.1,348.32 & wim Al (B sully elsdlisio
wima?
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a) 7.5% b) 6.5% c) 7% d) 6%

The sum of two numbers is 2000 and their LCM is 21879, Find the numbers
a) 1993,7 b) 1991, 9 c) 1989, 11 d) 1987, 13
Bim eremee Fm(lmsd 2000 seummlear L.GuT.o 21879 swilst, SIH5
STaNIEMETS HTENIS.

a) 1993,7 b) 1991, 9 c) 1989, 11 d) 1987, 13

Find the missing term in the series:

3, 20, 63, 144, 275, ?

a) 354 b) 468 c) 548 d) 554
sulfiomaulled eflhul L 2 mitnilel wahlenidg &ilsoildb:

3, 20, 63, 144, 275, ?

a) 354 b) 468 c) 548 d) 554

The market price of new brand watch is 15% higher than its original price. Due to
increase in demand, the price is further increased by 10%. How much: profit will
be obtained in selling the watch? (in %)

a) 25% b) 35% c) 26.5%: d) 27%

@M USHIW SYSTIHSEN clibusnan allnen, & 2 s sailmsven el 15%
SHs0. Coah ome Coaenaamuwn QUrmassr Bemplo 10% =igls
allemsuGluBp iU Teh. Iihs SEEMHme afGD GUTH HEnL&EGID
Grshs Bevrnnn asususney FHalHLT

a) 25% b) 35% © ¢)26.5% d) 27%

The simple interestion a sum of money is 1/9 of the principal and the number of
years is equalto the rate percent per annum. The rate percent per annum is

g 1 1 3

DH OBTOEEETE BT A QUTEH @h GHLILL STnsssn sstsTamsuien
1/9 wLrmsTe 2 siengl BosiD suml sully alHTsngl STeuhdhg Fowb
STy, DHLHTeNHHHTM Gl AUl ly lFD sTalmsTe]?

1 1 3
a)3 b) - c)3- d) —

3 3 10

The rate of interest on a sum of money is 4% perannum for the first 2 years, 6%
per annum for the next 4 years and 8% per annum for the period beyond 6 years.
If the simple interest accrued by the sum for a total period of 9 years is Rs.1,120.
What is the sum?
a) Rs.1,500 b) Rs.2,000 c) Rs.2,500 d) Rs.4,000
@0 GHTmeBET aIhHL g (pH0 Bljswh AmLSSDe: 4% s 2655
BTsE UBLHHDE 6% sal UM aubLRSEES Gwsd 8% Symab
o siengl. @ GUuIlL Gsrsnsssial 9 suihl Sisvhd|BEne SHelaul &
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GaTens 1,120 et SHGHTEHL  BHIEHIS.
a) Rs.1,500 b) Rs.2,000 c) Rs.2,500 d) Rs.4,000

Insert the missing number

4,-8,-16,-32, 64 (...)

a) 128 b)- 128 c) 192 d) -192
sllBUL L eTendianenT BFTHS

4,-8,-16,-32, 64 (...)

a) 128 b)- 128 c) 192 d) -192

In how much time will a sum of Rs.1,600 amountto Rs.1852.20 at 5% per annum
compound interest

a) Zéyrs b) 2 yrs c)dyrs d) 3 yrs

t5.1600 syemm 5% syem( mlf sully s Gereniy a1HHMET SLEHIHES6TI6
h.1852.20 ByGI0. . 1
a) Z:j;yrs b) 2 yrs c)4yrs d) 3yrs

Find out the missing term in the series 126, 21,344, " ;730

a) 511 b) 512 c) 513 d) 514
sierani Gierofisy allfult. swnrensml somi by,

126, 21,344, 730 >

a) 511 b) 512 _ ¢) 513 d) 514

The sum of two numbersiis'25'and their difference is 13. Find their product.
a) 104 b) 114 c) 315 d) 325

Eim  aTenTH6YTea Jn@g;ﬁh 25. swmme allGHraEDd 13 stalsh oeummle
GILI(TH &8 MHIGVEH ST 6w 5.

a) 104 b) 114 c) 315 d) 325

On bicycle a man cover 5 km in 20 minutes. How long he can go in 50 minutes?
a) 10.5 km b) 12 km c)12.5km d) 13.5km
wasusmrouilsh 3 &8 anTdHsd maul 20 HUOIL&HF0 SLESMIT aails S50
B HHD eIT aTelieusTey HITD G sveurir?

a) 10.5 km b) 12 km c)12.5 km d) 13.5km

Find the quadratic equation whose roots are 3 + V7 and 3- V7
a)xX’-6x+2=0 b)xX°—-13x+9=0 ¢]xX’-9%+2=0 d)x’—9x+13=0
3 +V7 wipid 3-V7 S LaBan ApenissTTs GBTENL @@Ly Fnsumd
a)x’=6x+2=0 b)x’-13x+9=0 ¢)xX’-9%+2=0 d)x'—9x+13=0

97. A man,awoman and & boy can do a piece of work in 6, 9 and 18 days
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respectively. How many boys must assist one man and one woman to do the
work in 1 day?

a)5 b)6 c)9 d)13

@ Cousmeuenwl em <pewil, @H G 1ommD 6m suwer awsnpGw 6, 9
whmip 18 mrlssisd (pluriss selish @ Spauld WwHDnNE @mn Custiianid
TGN LGS HisnemilfiHEHT0 @ Hiems Gesmeusnil (p9ss (pgund?
a)5s b) 6 c)9 d) 13

The LCM of two numbers is 20 times of their HCF and sum of LCM and HCF is
2520. If one number is 480, what will be the half of another number?

a) 750 b) 300 c) 600 d) 2040

6p(h eloodleoniledl LE.GILM.D. oenighl izl .oy Guisy 20 1w AiglD. GwsiD
B.Gume wind WB.oLTe-a Faldhsd 2520 SEaIb 2 TSl SIS EHET @b
sTemTention LA 480 sTeuléh WHOWBTMm sTemismilsn LITH W0 sTelaisTa)?

a) 750 b) 300 c) 600 d) 2040

In a circle of radius 10 cm, an are subtends an angle of 90 at the centre. Find the

area of major sector.
1650 5

1650 1650 45 1650
a)——cm —cm’ ; 2

b) —(J—CITI C] —E—cm d) o cm

10 Ge1f sypapsiten @m 2Ll HHs0, BB @IOLSH 90° CHTMEMNS R
aul Lallsh 2 maumd@E:ama. sians sl sl L& Camsmriiugsiulsr

Ly Lemiich  SNei.

A sess 0 aosd 2 sers 62 see
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